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Q.1 In a certain code language, 'CHILD' is
written as ‘6169248' and 'GUEST" is written as
'"142153840'. How will 'BOOK be written in that
language?

T AT i /TaT ), "CHILD' %Y '6169248' 3iiX
'GUEST' &1 '142153840' for@T SITAT g1 S WINT H
'BOOK' &% for@T SITasm?

a) 2303011  b) 41522
c) 4151522 d) 23011




2.Select the option that is related to the fifth number in the
same way as the second number is related to the first number
and the fourth number is related to the third number.
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a) 148
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c) 162
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Q.3 Which of the following letter-clusters will replace the
question mark (?) in the given series to make it logically
complete?

et 9§ ¥ 19 91 T9-a9g < T2 g@ar § T
qTfeheh €T F IO 417 o (1T FTAeATaT RS2

YXZ, VUW, SRT, POQ, ?
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Q.4 How many triangles are there in the
given figure?

<l T2 3 | fohae =St €72

a)25 b)28
c)24 d)22



Q.5 Which of the following humbers will replace
the question mark (?) in the given series?
Auforied ® & & |1 991 <t T2 g@dr § v
e (?) F7 =1 02 —
4, 8, 5, 7, 15, 90




Q.6 Select the option that is related to the fifth term in the same
way as the second term is related to the first term and the fourth
term is related to the third term.

I faeT T I97T FL S Ti=9 98 § SHT THE G189 8 A g8
TS 98 9% 9 3T AT U< 19X 9 § a8 g
GREATLY : ERGAYLT :: MIXTURE : XIMTERU :: TROUBLE

a) BORTUEL
b) ORTUEBL
Liat gl c) TUELBOR

d) ORTUELB




Q.7 Select the mirror image of the given
combination when the mirror is placed at XY as

shown.
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Q.8 Which letter-cluster will replace the question mark (?) to
complete the given series?
< IS AT I T LA o [N DI 9T TE-qHqg T = (?) F:+
gfaeTia H3T?

NHMS, HNOU, 2, HNSY, NHUA(- 20|
a) HNOX
b) NHSX
c) HNPY
d) NHQW
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Q.9 Statements:/ I

All towels are cloths./aft diferd FUg 21
No cloth is a blanket./®1S FYET Fad Tl gl

Some blankets are cushions./#= Fae qfFd &

Conclusions:/Aty:

l. Some towels are cushions./I. T dtfery afHd B
Il. No cushion is a cloth./Il &< TfHaT FIET AT 2
lIl. No towel is a blanket./Ill. FTE TATEAT FaA Tl gl

a) Only conclusion llI follows./xas fAsHe 11| SITET HLaT g

b) Only conclusion | follows./%a< fAtHY | STATT FLAT g

c) Both conclusions | and Il follow./fAsHT | 3fiT || AT SATHLOT FL &
d) Both conclusions | and IlI follow./fAs | 3T |1l AT STLETOT FXd gl
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Q.9 Two different positions of the same dice are shown, the six
faces of which are marked as €, Kk, ¥, &, ¥, . Select the
symbol that will be on the face opposite to the one showing '¢’.
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Q.10 Select the correct combination of
mathematical signs to replace the * signs and to
balance the given equation.
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Q.11Select the correct combination of mathematical
sighs to sequentially replace the * signs and to
balance the given equation.
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Q.12 The second number in the given number-pairs is obtained
by performing certain mathematical operation(s) on the first
number. The same operation(s) are followed in all the number-
pairs EXCEPT one. Find that odd nhumber-pair.
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a)16:8 b)4:5
c)9:6 d)36:9
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Q.13 Select the option that represents the correct order of the
given words as they would appear in an English dictionary.

39 e FT 997 F S QT T a1 & Gt v HT TfAA e
AT & ST foh F T S{USIT Toahier | fa@rs |

1. Resolve
2. Rodent
3. Resonant
4. Return

5. Respond
6. Rigidity
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a)1,3,5,4,2,6
b)3,1,5,4,2,6
c)1,3,5,4,6,2
d)1,3,4,5,6,2



Q.14 ldentify the answer figure from which pieces given in the
question figure have been cut.

qaw-a@%maﬁﬁnm@rwwﬁﬁﬁqumwg.

Question figure: / A\




Q.15 The second number in the given number pairs is obtained by performing certain
mathematical operation(s) on the first number. The same operation(s) are followed in all
the number pairs except one. Find that odd number pair.

<Y TS TEIT HT H GO HEAT TRt GEAT U T 01T SIhATd FTeh I8 it [Tt 81 TF 0
SreHL ¥t T T A FHT SRt v srgawer AT simar @) 98 R ' 3w e S

a) 53 : 2916
b) 41 : 1765
c) 23 : 576
d) 19 : 400
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Q.16 Select the correct image of the given
combination when the mirror is placed at MN as

shown
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Q.17 Which of the following numbers will replace the question
mark (?) in the given series?

Mufafea & ¥ #i9 @ 931 & T2 g@ar § w7 o (7) |2
13, 25, 38, 62, 88, 124, 163, 211, 2?2 ~

a) 253
b) 263
c) 235
d) 236
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Q.18 Select the option that is related to the fourth
term in the same way as the first term is related to
the second term and the fifth term is related to the
sixth term
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Q.19 Select the option that is related to the fifth
term in the same way as the second term is
related to the first term and fourth term related to
third term.
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Q.20 Select the option that is related to the fourth term in the
same way as the first term is related to the second term and the

fifth term is related to the sixth term

39 FAFeT T FIT FL AT AT I G ST TR A 8d g 99 IgAT 9%
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a)12 b)14
c)8 d)17

A A . , " 4 1 y fa X o 2 & .
- F & 43 -.‘_ . = . e \- e : S
> e et A AN ey 3 v
Co fERE M T - A\ T Q—g‘ e % -
ot = (e = B AT A TR, . - N\ =
£ oy 4 = 4 A ‘ A \ "&"'};’:—;. NG 25 - " :
g P o v N o R\ &
e s Rt | AR R R NCRNE -
7~ i s : ! - R S
24 . Y N \ N
P 3 ¥ & : o~ \ = Y f\:\
v, ’ X A \ N D e
o s K _ WG -



Join my

TELEGRAM GROUP
@reasomngbymohltsw

I I IAN K ‘ Dally PDF of all YT sessions

Discussion / Doubt Solving

YO Direct Interaction with me
Quiz

@ Polls




